Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

1.8

1.6

1.4

1.2

=

15-_.

..........................

{ihe

20 40

Number of tracks

Pull of x

1.8

1.6

1.4

1.2

Ratio

099720 40 60 80 100120140160 180200
Number of tracks

Pull of X for merged vertices

Ratio

1.8

1.6

1.4

1.2

1

0.8

0.6}
1.ZE
1.1
1
0.9
0.8

+|- 41|
N

0 20 40 60 80 100120140 160180200
Number of tracks

il

18

1.6

1.4

1.2

iy

0.8

0.6

.0

o]

20

b Fr———r e
60 80 100120140160180200
Number of tracks

0

1.8

1.6

1.4

1.2

[y

.............................

........................

0.8 11
12
-

0.8 ---

0

20 40 6

0 80 100120140160 180200
Number of tracks

R T

2

Pull of y

1.8
1.6

Ratio

Number of tracks

Pull of z

1.8

1.6

14

1.2

[y
T

Ratio

.—\

=1
F
(1

09920 40 60 80 100120140160 180200
Number of tracks

Pull of y tor merged vertices

Ratio

Pull of z for merged vertices

Ratio

10 60 80 100120140 160180200
Number of tracks

Number of tracks



	Contents
	Page 1


